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DAGIE HINYIA TE
SIRMHIA XA TE (el &2
SH-EH . C(BH) - NRAY - BES 0 Ak o4 [ =)e bRz
AL 412,800 411,501 1,299
2 17,360 17,360 0
Al 395,440 394, 141 1,299
HOIE HPMHIA PE 132,784 134,758 A1,974
2 5,600 5,600 0
Al 127, 184 29, 158 ~1,974
DR AHIA A 7 131,704 133,558 A1,854
2 5,600 5,600 0
Al 126, 104 127,958 A1,854
DIFHN IOt 48,166 53, 100 ~4,934
201 2sr2 | 46,366 51,100 ~4,734
01 AR eIl 46,366 51,100 ~4,734
ODEUAZT(WRHET)DIS ZA HIB
ZF 18,000,002 18,000 20,000 A2,000
ODIRAIH ADE(XE, AR, ZAX)TY
A 2,550,0002 2,550 3,000 A450
O=u pIga 8 X4 20,816 22,400 A1,584
- oA Al £ M 18,416,002 18,416 20,000 A1,584
OARUHSA HALDAl MHOHHS HIE 2,500 3,200 ATO0
- vy 2 1,000,009 1,000 1,200 A200
- oIyl A3 1,500,002 1,500 2,000 AB00
202 01t 1,800 2,000 A200
01 2Lhoit] 1,800 2,000 A200
OFZASFAS 9IG ASt0lHl B 800,008 800 1,000 A200
DIFHY HREX 77,938 74,858 3,080
201 L2yl 62,358 69,158 6,800
01 ALR eIt 39,915 46,715 6,800
OFUSEE 22 242 22,715 24,715 A2,000
- AR Y e A 22,055,008 22,085 24,055 A2,000
OFSE 2 28X 7Y
A 1,500,008 1,500 2,000 AB00
OSEE7 L LQUVALZI| 222 7Y
2 4,500,002 4,500 5,000 A500
OFPSE YNl 22 MEY)
A 70,0009 700 1,000 A300
DA 22 IY(E,5,52)
A 10,500,008 10,500 14,000 3,500
202 01t 1,080 1,200 A120
01 2hoit] 1,080 1,200 A120
OopIRezIl 221016l ZF 1,080,008 1,080 1,200 A120
303 Z&3 5,000 0 5,000
01 Z&3 5,000 0 5,000
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SA-E . S(E) - MEAY - BES arey pJE-T s
OURAAHY 2 & 5,000,000 5,000 0 5,000
405 XtobE SHI 5,000 0 5,000
01 ML ESFH 5,000 0 5,000
ORolplagzg) 2A 2A(LX2HEH)
5,000, 000& 5,000 0 5,000
SN SER Uz 1,080 1,200 2120
IISSAHSER AE2 1,080 1,200 A120
202 (4Hl 1,080 1,200 A 120
01 =AY 1,080 1,200 A120
ONE2ASE Nz2el o]
Z& 1,080,000& 1,080 1,200 2120
AH 2 2SS 225,485 220,673 4,812
= 11,760 11,760 0
Al 213,725 208,913 4,812
EX&e| 201,633 195,044 6,589
= 11,760 11,760 0
Al 189,873 183,284 6,589
HESAIKXIIL 24 38,784 45,484 6,700
201 etEE] 29,250 35,950 6,700
01 AtR2teld] 25,250 31,950 26,700
OMHEZAIXI It PNE=E ]
2% 2,700,000 2,700 3,000 A 300
OIHEZSAIX 20,450 24,750 4,300
-2 SXot HE
Z2& 6,270,000 6,270 8,250 A 1,980
- 9ANE =5
Z & 4,280,000 4,280 6,600 N2,320
OFSeE I}
Z& 2,100,000 2,100 4,200 A2,100
FSAMHAHEAN =E 15,115 18,360 N3,245
201 et 13,585 16,360 N2,775
01 AtR2teld] 12,025 14,800 N2,775
oNg=Rg= &=
2 & 8,500,000& 8,500 10,000 A 1,500
OMgeez2 8
23 3,525,000 3,525 4,800 N1,275
202 O 1,530 2,000 A470
01 WY 1,530 2,000 N470
ORSAaHHIIEA Hl FE 1,530,000 1,530 2,000 A470
E2E M=4A 29 72,734 56,200 16,534
201 Let2E] 71,534 55,000 16,534
01 AtR2teld] 56,534 55,000 1,534
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SN B SRA(SIH) - MBAY - BAS Abod HlnE2
OMZ4 23 39,880,000 39,880 40,000 A120
OMZF2 23 11,654,008 11,654 15,000 £3,346
OMZF2 o144 bl

50,000 A1l CH 1002 5,000 0 5,000

2 zzed 15,000 0 15,000

OMZF4 2ER3 15,000,008 15,000 0 15,000

ARzZE Y 25 2| 23,852 25,629 A,TTT

NEE=E ] 19,707 21,379 A1,672

201 Yereg| 10,376 11,528 A1,152

01 AtR22lt| 10,376 11,528 A1,152
ON==ZIIEE Y YA [E X

24l 23 4,500,0002 4,500 5,000 A500
ON=EZL (KLIS)2Y 422 7Y

23 2,868,0002 2,868 3,520 1652

202 01t 3,480 4,000 A520

01 =U oIt 3,480 4,000 A520

ONEZ STAA OfHl  ZF 1,480,000 1,480 2,000 A520

2SN SHYA 2 4,145 4,250 A 105

201 Yeregy 945 1,050 A 105

01 ARl 945 1,050 A105

ORSUEN+4+E REE M=

A 945,000 945 1,050 A105

#HEIFH (A= 54,531 56,070 £1,539

P[EE LGN 50,331 51,870 £1,539

JIEAH(L RS A 50,331 51,870 £1,539

201 Yeregy 3,851 15,390 A1,539

01 AtR2t2l 13,851 15,390 ~1,539

ORNEY 23 13,851,000 13,851 15,390 A1,539




